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Question: 1  
   
Sentence 6:You needed a surface thermometer and a supply of split hardwood, such as maple 
or birch. 
Which correction should be made to sentence 6? 
 
A. replace You with They 
B. change needed to will need 
C. insert a comma after thermometer 
D. insert a comma after as 
E. insert a comma after maple 
 

Answer: B     
 

Question: 2  
   
Sentence 1With the fireplace sealed, the temperature rises quick. 
Which correction should be made to sentence 15? 
 
A. insert is after fireplace 
B. remove the comma after sealed 
C. change rises to rose 
D. change rises to is rising 
E. change quick to quickly 
 

Answer: E     
 

Question: 3  
   
-- Exhibit- 
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-- Exhibit - 
Sentence 9:Tantalize your taste buds with fine food and a selection from our gourmet restaurant's 
extensive wine cellar while one takes in a panoramic mountain view through three walls of glass. 
Which correction should be made to sentence 9? 
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A. change buds to bud's 
B. change restaurant's to restaurants 
C. replace wine with whine 
D. replace cellar with seller 
E. replace one takes with you take 
 

Answer: E     
 

Question: 4  
   
-- Exhibit- 
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-- Exhibit - 
Sentence Our work stations are stocked with all the tools and equipment that you needed to do work 
on your car. 
Which is the best way to write the underlined portion of this sentence? If the original is the best way, 
choose optionA. 
 
A. that you needed 
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B. that, you needed 
C. that needs 
D. that needed 
E. that you will need 
 

Answer: E     
 

Question: 5  
   
-- Exhibit- 
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-- Exhibit -- 
Sentence 1Our auto experts will teach you what you needed to know to be self-sufficient. 
Which correction should be made to sentence 14? 
 
A. replace Our with Are 
B. insert a comma after experts 
C. change teach to teaching 
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D. replace what with that 
E. change needed to need 
 

Answer: E     
 

Question: 6  
   
-- Exhibit- 

 
-- Exhibit - 
Sentence 10:If you have children or pets, one should arrange to have them looked after if you want 
to supervise the move yourself. 
Which is the best way to write the underlined portion of this sentence? If the original is the best way, 
choose optionA. 
 
A. If you have children or pets, one should arrange 
B. Having children or having pets, one should arrange 

Visit us athttps://www.certswarrior.com/exam/ged-writing/

https://www.certswarrior.com/exam/ged-writing/


 

C. If you have children or pets, you should arrange 
D. If you have children or pets, one should have arranged 
E. To have children or pets, you should arrange 
 

Answer: C     
 

Question: 7  
   
-- Exhibit- -- Exhibit – 

 
Sentences 11 and 1Although he painted all kinds of flowers.He is usually associated with his paintings 
of sunflowers. 
Which is the best way to write the underlined portion of these sentences? If the original is the best 
way, choose optionA. 
 
A. flowers.He is usually associated 
B. flowers, he is usually associated 
C. flowers, but he is usually associated 
D. flowers, and he is usually associated 
E. flowers, being associated 
 

Answer: B     
 

Question: 8  
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-- Exhibit- 

 
-- Exhibit - 
Sentence 16:If you live in a dry climate, consider, slow-growing, drought-tolerant plants as an 
alternative to grass. 
Which correction should be made to sentence 16? 
 
A. change live to living 
B. remove the comma after consider 
C. remove the comma after slow-growing 
D. insert a comma after drought-tolerant 
E. no correction is necessary 
 

Answer: B     
 

Question: 9  
   
-- Exhibit- 
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-- Exhibit - 
Sentence 20:If we continue to receive complaints regarding inappropriate workstation behavior, 
management, will have to find a better means of controlling the situation. Which correction should 
be made to sentence 20?. 
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A. insert a comma after complaints 
B. remove the comma after behavior 
C. remove the comma after management 
D. change will have to could have 
E. change of controlling to to controlling 
 

Answer: C     
 

Question: 10  
   
-- Exhibit- 
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-- Exhibit - 
Sentence 6:Most new service representatives require more than three months of intensive training 
before they are ready to handle the position on there own. 
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Which correction should be made to sentence 6? 
 
A. change require to requires 
B. replace than with then 
C. insert a comma after training 
D. replace there with their 
E. replace there with her 
 

Answer: D     
 

Question: 11  
   
-- Exhibit- -- Exhibit – 
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Sentence 1Each of these installment payments require a payment fee of $3.50. 
Which correction should be made to sentence 13? 
 
A. replace Each with Each and every single one 
B. change these to them 
C. replace payments require with payment require 
D. change payments to payment 
E. change require to requires 
 

Answer: E     
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Question: 12  
   
-- Exhibit- 

Visit us athttps://www.certswarrior.com/exam/ged-writing/

https://www.certswarrior.com/exam/ged-writing/


 

 
-- Exhibit - 
Sentence The legal files in the first floor storage area are usually not in order, they contain obsolete 
material that can lead us to produce inaccurate reports. 
Which is the best way to write the underlined portion of this sentence? If the original is the best way, 
choose optionA. 
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A. in order, they contain 
B. in order, but they contain 
C. in order and contain 
D. in order and to contain 
E. in order.Contain 
 

Answer: C     
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